1. T—7JIEE, T—TILER BULEa&hHt (SQLite3, Python %{EH)

URL: https://www.kkaneko.jp/cc/dbenshu/index.html
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id sepal_length sepal_width petal_length petal_width species

0 5.1 35 14 0.2 Iris-setosa
1 49 3.0 14 0.2 Iris-setosa
2 47 3.2 1.3 0.2 Iris-setosa
3 4.6 3.1 1.5 0.2 Iris-setosa
4 5.0 3.6 14 0.2 Iris-setosa
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NULL: ZZ{E (a NULL value)
INTEGER: FFS{T=DELL (signed integer)
REAL: ;Z8)/)\E=1E (floating point value)
TEXT: X551 (text string)
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for row in t:
print (row)
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m CSV J7-)L CSVFile
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Iris > —51w bOT7AIUFRDKX ST 7AILTHS.
kaggle D7 —4A1Zw b @ https://www.kaggle.com/datasets/uciml/iris 77*5 AFHIEE.

Id,SepalLengthCm,SepalWidthCm,PetalLengthCm,PetalWidthCm,Species
1,5.1,3.5,1.4,0.2,Iris-setosa
2,4.9,3.0,1.4,0.2,Iris-setosa
3,4.7,3.2,1.3,0.2,Iris-setosa
4,4.6,3.1,1.5,0.2,Iris-setosa
5,5.0,3.6,1.4,0.2,Iris-setosa
6,5.4,3.9,1.7,0.4,Iris-setosa
7,4.6,3.4,1.4,0.3,Iris-setosa
8,5.0,3.4,1.5,0.2,Iris-setosa
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import os
os.getcwd()
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import pandas as pd

import sqlite3

¢ = sqlite3.connect(‘hoge.sqlite’)

sql = u™"

create table iris (
id integer primary key,
sepal_length  real,
sepal_width real,
petal_length  real,
petal_width real,
species text );

c.execute(sql)
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(1) AT x ([T CSV T7AILEFRMMAD

x = pd.read_csv('c:/iris.csv', header=0)

Windows TD I 7 )L [C¥iris.csv] (&, Python DTS AR T(E ['Cliris.csv'] DKRDICEL.
FEAIARM TN CSV T 7 A )LDFETEITIC, [id, sepal_length, sepal_width, petal_length, petal_width, species |
DX DAY S =R MZE(C(E Theader=None| Z{F1F35.
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for index, r in x.iterrows():
sql = u"insert into iris values (?, 7,7, 7, 7, ?)"
c.execute(sql, (r[0], r[1], r[2], r[3], r[4], r[5])
[forrinx:] (& x DEITICDVWTHEDIRY EUL\D Python T7OT S A.
[insert into iris values] (&, T—JILIC 14THEATD LD SQL TOT S A.
71 (&, sQL 7L —X)LE —.
[r[0], r[1], r[2], (3], r4], r[51] (&, BEDCSVF—FT 7LD OFE, 1518, 258, 358, 4518,
55BZ[EDS ENSF.

c.commit()
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cur = c.cursor()
cur.execute(u"select * from iris")
for tin cur:

print (t)

[select * from iris] (&, SQL BULV&EHOHE.
fcurl (&, B—VILTHD. BULWEDHEEREZBIDICES.

c.close()

® exit() THT
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TO0SLDETIER, exit()T Python 1 > AT SEET T 3.

exit()
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